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2 a1[[t{{1u 594,54t

3 F|lflnaouvto 15,00t
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r19t
a'lnao5ua1{yl0 1,771

5 r?xl 1+2+3+qrfluriu 2,1,07,21

6 d1 FACIOR F = 1.2451( F x {a S ) 2,623,691
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8
f,a.d

irnrfi nr:ttiu (:runr6uarir rfi u) 2,806,67(

Oiuaardru urJ n uauunrfur,lnfo s3uurfl dau)

q, < t aJ r N? n {# Y 6r"fr .i'"ar <"r Yl r) ro t, 
^r 

& nnl riv ) 4A?J€p<
t)



rat atnn 6 Miufi 1/3

riqttur nBmnrir 1, drir 2, ir utwru

radrurharir fl surl:elro 2559 0$trt

r n{rurharfr pr tuluur dmrtinf, l.s

I r.rnillui nrJn. trtrrn*iui tu.nu

rretd nrJn.n.G /97/s9 (lz-znl

rnrfi gzlsg
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rtil
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t,ttu ?.itn,|?/nutt
atnns a(l1u2u irir4ut) druas.tru(urvr) euriuriu

aouu?t fiurtr ,euu2t riluriu (rJfl)

1 rieure.ilrnni o 2oo Nx.

-riarjnan s a 2oo uu.(o'uooa) Hnf 16 1,4U 23,424 1,573 25,1ffi 48,592

-riorJnon s a 2oo uu.(1am.r) HN' 48 1,464 70,272 131 6,288 76,560

mlriluriu io t. UlYI ql,696 31,456 125,152

2 riouauqrJnaoi u 1oo xx.

-riawca roouu.{ug.s HN? 7.700 134 1.031f00 59 454,300 1,486,100

-rJrErirlfitsu @ ioo lJ:J.(anqr) 1' 11 5,330 58,630 440 4,UO 63,470

-ntnnrufimluo 1oolrx. ne E 1,460 7,300 260 1,300 8,600

-nruJnrdrnrsei{urirc'runsN u 1 00 lru. ilc .E 1,415 2122:5 260 3,900 25,125

-drurmhnrfi a too ul. afl 2 1,520 3,040 260 520 3,560

-rfcnuntfu u loo rJ]r. 1'r
a
J 13,800 41,400 41,400

-riaudurjoT fl ufirqru+:Jrn :i;tin a 1 0o rx. n1 22 820 18,040 260 5.720 23,760

-If,l so osrtr ufirqru o 1oo ru. ne a 970 2,910 260 780 3,690

-tf,.r go orir:Jrna;a-r a 1oo xN. il,) 10 1,185 11,850 260 2,600 14,450

-tf,i +s our ilrnr:fs u 1oo xu. n,) 2 1,150 2,300 260 520 2,820

-iarsnrudnudovia pvc z'roo xr. nr) / 470 940 260 s20 1,460

vd-ufi1i1unsmdselu o 100 ur.r. x 2 nc t 300 1,500 1,500

-ufirqrunruoa o 1oo ilil. n? 3 295 885 885

-fion + ilfifiuut o 1oo Nil. 1n 44 230 10,1m 10,120

e-rlrilurtu ie z. u11r 1211.940 475,000 1,686,940
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u"rgilur rltBurotir 2. dror l, dr uasrru

Inasrrr:ersriorrrartnirnharir flsurjrmol 25s9 (fiumdi)
qruzrvriale,tgrrrfiffirhnfr glutuuairsr.rriaf, l.s

r.ur-n rfiel a.nrerltr lrrnrtu{ mJn. rrt rrnrfi ui tu.nlertr 11

auururerd nrla.l.6 /97rsg (1 D-2f21

rnrfi gzlsg

Jrii trtrrt?/nrnt tnnt *rucu
drirqturn) irutwru(urn) :rlrfluriu

neuil2t riurtu t.,itlu2t riluriu (urr)

3 dauGqrktflfi o so ilx.

-tisthon G.s. zruon. uJnt 4 490 1,960 240 960 2,920

-rhpe.o50 ilx.sDR.13.5 uri, 660 187 123,420 21 13,860 137,280

+rqrtdoPts.oso xl. fr1 2 174 348 u8
-iaientq'PB. oEo xu. a7 11 360 3,960 3,960

-iodanNrnds,luon PB. z50 Nll. x 2' n2 5 358 1,790 1,790

-ia.rpg.gsoul. fr,, 5 372 1,860 1.860

- uoFnfra r' $ 2 2,930 5,860 110 220 6.080

- rlarnffir a.t.n. ila 2 3,360 6.720 840 1,680 8,400

aon!fluriu do e. U1I 145,918 16.720 162,638

4 rilaurqrlnaol s +o rrrl.

-da pe. o40 rJrJ.sDR.13.5 $4, 160 130 20,800 15 2,400 23,200

-rhqmio PB. o4o Nr. fr1 2 128 256 256

-ffirl PB. u 40 rN. arl 2 203 406 406

-imo Pg.o+o lu. fr) a 209 418 418

-fiodaanmiiuluon PB. o40 ilil. x1 1t2' nn 2 221 442 442
a.-]

?2lrtuur{u no 4. UlYI 22,322 2,400 24,722
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a,lru fltn13/!ifi, uu?c al'ru2u
irtr4rrrnl ri'rutmu(urvr) a'lulflurtu

neuu2t riuRu iernizr rfluriu (u1x)

5
aou1

-drsrrrlio PVCnu'ra 1 nn. nrJ. 13 210 2,730 2,730

-uriunouninir.r:Jrzqri1,If,{,61rJyr1{ drl uriu 18 240 4,320 60 1,080 5,400

-drdor a.6.n. (xfi1fiiu)
ar.$. 34 100 3,,100 20 680 4,080

-driolnqu a.e.n. nt ll. 32 380 12,1il 90 2,880 15,040

-xfi f,olnion1o,n a 100 :Jr.(700 rl / 500 r) dc.r 2 700 1,148 1,148

-uaaauria a 1oo-2o0 ru.(900 u / s00 x) dc.r 15 900 ,3,860 ,3,860

-nnafl.mNIo ntni't A 1 00 NtJ.(20 u/1,000 N) dr.r 1 20 16 16

-nn6jiufir.rrio s 1oo-2oo uu.t.' * r.,,* r,l Ccr 8 150 1,155 1.'t55

-a:rtrdl rml.r. nrrtiu{(-ua2+a.99u.lim)nu rirdun.r
)

tYttn 6 10,722 64,332 64,332

mlriluriu de s. u'lyt 22,610 85,151 107,761

o eurrfluriu ia. r fis{e. s u17t 1,496,486 6',to.727 2,107,213
n1 hAcroR F = 1.24s1 (F x io.6) 2,623,691

nn,rfl nz?ruu ( u{"2&n,luun artiil) lriue osdr uu n ua u a o.ru iuatrfinrnr dru) 2,623,000

{tuu8I1oriltnqn6??
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